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1. Before attempting the question paper, kindly
check your Question Booklet (QB) and
O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.
- Allpages and all questions are properly
printed.
In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.
2. Readallinstructions on the reverse of O.M.R. Answer Sheet.

3. OnO.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. Ifmore than one response is marked for a question, it would also be treated
as wrong answer.

6. Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has tofill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

11. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated as final.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadget in the
examination hall is strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO.
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BIg AR ThgiG AT HI fFAT ST T 3 99 F
% 6,65,500 31T 5 99 # T 805,255 & ST & | Ffe sorst

T SAIToTd & TaT 8, A T8 AR FATE 2
(A) T 4,92,000 (B) ¥ 5,00,000
(C) % 5,25,000 (D) T 4,80,000
(B)  3rgana e

WA Bt STATOET (2011) F AR, TR 7 H,
frrferfaa & @ ferw fotet Y STge (Fe ) 9
FHH AY 92

(A)  SEAHR (B) =&
(SIS LEE: (D) AR
(B)  3rfana ued

T T A TA H 8 km/h A AT TATTRATE | TS
TS HIRIBIIT 2 km/ h AT T = a6 AT
AT 3N ATRT 379 | 2 G BT 7Y & 7T g, v a8

T B gl (km /) R 2
(A) 75 (B) 76
() 775 (D) 725
(B)  3rfana ued
-1 3T FET-2 BT HATH BT :
-1 T2
EEAA AT F AN | (TTAA U FRI ST
T St Rfa) T T 7 ITHR)
(@ [3FAW @) |=rst (Ferari)
wfaferer
(b) |TwaATHE (C) W | (i) | T F TAT MHR
EARIGIEE]
(©) |wrHE (F) MR ga| (iii) |srwd &g (fag-
P) F AT H 3T BT AT
(d) [Tt (C) U | (iv) | a5 ¥ BT Uidtes
A T U Torehed ! ® o W&k 3T BT T8 BT ;
(A)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
(B)  (a)-(iid), (b)-(ii), (0)-(i), (d)-(iv)
©  (a)-(i), (b)~(ii), ()-(iv), (d)-(0)
(D) (a)-(iv), (b)=(ii), (c)-(i), (d)-(iii)
(B)  3raRd wed
2

A sum of money becomes X 6,65,500 in 3 years and
% 8,05,255 in 5 years at certain rate of compound
interest. If interest is being compounded annually,
then what is the sum ?

(A) 492,000 (B) ¥5,00,000
(©) R5,25,000 (D) % 4,80,000
(E)  Question not attempted

As per the Census of India (2011), which of the
following districts had the lowest population
(in numbers) in Rajasthan state ?

(A) Jaisalmer (B) Churu
(©) Rajsamand (D) Barmer
(E)  Question not attempted

A man can row a boat at 8 km/h in still water. If the
speed of water current in the river is 2 km/h and he
takes 2 hours to row to a place and come back, then
how far off is the place (in km) ?

(A) 75 (B) 76
(© 775 (D) 7.25
(E)  Question not attempted

Match List-1 with List-2 :
List-1 List-2
(Position of objectin | (Size of image formed

front of concave by concave mirror)
mirror)

(@) |AtInfinity (i)

Enlarged

(b) |At the Centre of|(ii) |Same Size as the
Curvature (C) object
(c) |Between Focus (F)|(iii) |Highly
and Pole (P) diminished (point
sized)

(d) |Beyond Centre of
Curvature (C)

Choose the correct answer from the options given
below :

—~~

iv) |Diminished

(A) ()=, (b)-(), ()-(iv), (d)-(ii)
(B)  (a)-(i), (b)-(ii), (c)-(0), (d)-(v)
© (@)=, (b)~(ii), (c)-(iv), (d)-()
D) (a)-(iv), (b)~(ii), (c)-(i), (d)-(iii)
(E)  Question not attempted



5. 1428 ® FI-HI BIET ¥ Bt T&AT HI Jlg I UTed
@3, 4, 5 3R 6 A Yo fawr=a grtt 2
(A) 15 (B) 18
© 9 (D) 12
(E)  argana ued
6. Trferiad & ¥ fope gfict 1 ‘e gfie’ & A\ & ot
STATSTATE ?
(A)  SEEHE (B)  Tustar
© T (D) ISEHE
(B)  3rgana ued
7. ARG ST BT HIF-AT TS AAD Bl o
REIBCEY)
(A) ITTWI51A (B) ITTEI 244 A
© =I5l (D) 3=T42A
(B)  3raRd e
8. T WY HIH-HT TS H o HHGT HT qaH T
HEAT & ST FGAIR TG H AT ATATE ?
(A) S TR e
(B) e HT HeT
(©)  wdER#e
(D)  fewit HeATOTST HAT
(B)  3raRd 99
9. 2009 # BT # [Fq I & T&~ W T SAAIAATHE
3T 3T 2
(A)  ISTroe
(B) duA YA
©) S g
(D) = iU qd
(E)  arfana ued
10. 3R EL.3ME. AT (2005) B FATARIT H o FHH
&R H AT & The [BT0T T B BT AT E 2
(A) arT4 (B) am8
© eumr12 (D) w3
(E)  arfand ued
<+ DB29

What is the least number which should be added to
1428, to get the resulting number exactly divisible
by3,4,5and 6?

(A) 15 (B) 18

<o 9 (D) 12

(E)  Question not attempted

Which of the following lakes is also known as the
‘Dhebar Lake’ ?

(A) Jaisamand (B) Pichola
(©)  Pushkar (D)
(E)  Question not attempted

Rajsamand

Which of the following Articles of the Constitution
of India deals with the Fundamental Duties ?

(A) Article51 A (B)
(C)  Article 51 (D)
(E)  Question not attempted

Article 244 A
Article 42 A

Which of the following is the largest Jain fair in
Rajasthan that is celebrated in Chandanpur
village ?

(A)  Shri Mahavirji Fair
(B) Kapil Muni Fair
(©)  Bhartrihari Fair
(D) Diggi Kalyanji Fair
(E

~

Question not attempted

The collapse of which bridge in Kota in 2009 caused
a major infrastructural disaster ?

(A) Daiji Bridge

(B) Chambeal Bridge
(C) Sattapol Bridge
(
(

)

) Chandpole Bridge
E)  Question not attempted

Which of the following sections of the RTI Act
(2005) has the provision for exemption from
disclosure of information ?

(A) Section 4 (B)
(C)  Section 12 (D)

(E)  Question not attempted

Section 8

Section 3

P.T.O.



11.

12.

13.

14.

15.
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WA & Flaer= &7 a7 S aret diaam a9 |
Tepe=Tt Al gaw ot 2

(A) 24 (B) 15

© 30 (D) 20

(B) 31 aRd e

WA AT @ forT i 3 steast 2025 # At
fep T ST aTet A g3 g WA BT A TR ?

(A)  SMETATE. FHE

(B) smEuATE. ufR

O IMETATH, TAIF
3.0, 3y

E) 3raRa ued

T HEH B HTaS” gut etenad 7 F e
a2

(A) IR A

B)  uiy=#t ety

) ST B T AT g
D)  gferor-ufd=s AT

E) 3 aRd 99T

TSR 7 7 & TAT $FeaT I 179-2025 F HI9-71
T T {6t 2

@

(
(
(
(

(A)  d=H (B) gdm
©) fadtm (D)  wuH
(B)  3rqaRd e

ST ot a8 ferera ghter, frent et fasa g5
ST T 6 TS b STeA-TaHT o9 & B9 & ITIRT
fepaT T, &

(A)  TEAEER
(B) orEHE

(© T=pr

(D)  Tster

(B) 3raRd wed

12.

14.

How many women members were part of the
Constituent Assembly that formed the Constitution
of India ?

(A) 24 (B) 15
(© 30 (D) 20
(E)  Question not attempted

What is the name of the second multi-purpose
vessel built for the Indian Navy and launched in
January 2025 ?

(A) INSSamrat

(B)  INS Shakti

(C) INS Samarthak
(D) INS Utkarsh
(

E)  Question not attempted

The ‘Mavath’ rainfall of the Rabi season, is
associated with which one of the following ?

A)  North-East Monsoon

B)  Western disturbances

(
(
(C) Bay of Bengal Monsoonal Winds
(D)  South-West Monsoon

(

E)  Question not attempted

What position did Rajasthan secure in the 7th Khelo
India Youth Games-2025 ?

(A) Fifth (B)
(©) Second (D)

Third
First

(E)  Question not attempted

The famous lake of Rajasthan which was used as a
sea-plane base for about 6 years during World
War-Il is :

A)  Anasagar

B) Rajsamand
) Nakki
D) Pichola

(
(
(C
(
(

E)  Question not attempted



16.  TSTRATT AT FHAT FHATARET | o 6T To9/d9
T -84 % T TSI HLATE 2
(A)  HERTS (B) faoett
©) TEoEA TR (D) G
(E) SraRa ued
17.  “TURES” (FHH ) 69 uiig Siteriiies asiv &
AT # Tt fepamarar a2
(A) =T sRnegrear (B)  =fUNE. ISt
(©) =r.ar®. A (D)  Sr.37, Haar
(E) sraRa usd
18. fATTRad H ¥ USTgH 3MX HIATT I & -4
T T e T A R 2
(A) g -foaa
(B) Tpa-fum
(©  31id - Al
(D) R - T
(E) sraRa usd
19. TeAferigd # & e Wd T T & aaae ¥ fgqaet
[EEIEEEGCK F R
(A) TR (B) HAl®H
(© zRarom (D) AT
(B)  3raRd 99
20. 2011 FISTATOATH FTHAR, TR H H T Toret
I FIGATET 75% A 1T ot 2
(A) S (B) wier
Q) 3 (D) SR
(B) Iranra ued
21, TSI § B AT ST ST 379 10 IT-I A1 b [T
STHATSITATE 2
(A) == (B) oAt
©) W (D) el
(E) Iranra ued
<+ DB29

16.

20.

21.

Rajasthan shares its boundary with which one of the
following States/Union Territories ?

(A) Delhi

(C) Himachal Pradesh (D)

Maharashtra (B)
Punjab

(E)  Question not attempted

The “Jaipur Foot”, a prosthetic limb, was developed

under the guidance of which renowned Orthopedic
Surgeon ?

(A) Dr. Ashok (B) Dr. P.K. Sethi
Panagariya
(©) Dr.B.K. Goyal (D) D.R.Mehta

(E)  Question not attempted

Which of the following pairs of enzyme and site of
synthesis is NOT correctly matched ?

A) Kidneys - Trypsin
B) Liver - Bile

(

(

(C) Intestine - Maltase

(D) Salivary gland - Amylase
(

E)  Question not attempted

Which of the following Indian States currently does
NOT have a bicameral legislature ?

(A) Bihar (B) Karnataka

(©) Haryana (D) Telangana

(E)  Question not attempted

According to the 2011 Census, which of the
following districts had a literacy rate above 75% ?

(A) Jalore (B) Kota

(©) Alwar (D) Jaisalmer
(E)  Question not attempted

Which river basin in Rajasthan is known for its
10 sub-basins ?

(A) Banas (B)
(©) Mahi (D)

Luni
Chambeal
(E)  Question not attempted

P.T.O.



22, opd TR H HIg UART WL SIS U 10% TTTHH
W W HI AT T[T & SATCIAT 2
(A) 1599 (B) 2099
© 2599 (D) 30ay
(B)  3raRd e
23. WI%?F‘WYI'QH TS (Microsoft Word) T AT SRS BT
Tie TS TS b [T BT ATgoT dTerd Wit Hi
QTTEHe HN HIA-HTE 2
(A)  Shift+F
(B)  Ctrl + Shift + P
(C) Ctrl+V
(D) Ctrl +P
(B) 3raRd wed
24. TAtIrEd Afga ® ¥ A ‘99 0 M
(B9 36 BRES) 3 ATH H W SATSATE 2
(A) = (B) ot
© At (D) STt
(B)  3raRd e
25.  “qumer” TEATeTREd | | I araEsl Bt e i
& AT TITBd [FATATATES ?
(A) 9T (TIRID)
(B)  Terocit amer (ASAI®IA)
€) FrEaE A (sfeawie)
(D) =t aTer (HISTHIA)
(B) 3raRd wed
26.  ISTRAT H BIATHT 2T ST HaT RIAT S 2
(A) @ (B) <iw®
© gy (D) AwiT
(B)  3rfana e
27. \RA HI FTAOAET (2011) F IR, TERA &
frtaiaa & ¥ fe et 31 STee # Semha R gig
3T (2001-2011) TTTLTT H TEH FHH T 2
(A) e (B) g
(©) TR (D) dTEgHT
(B) 31 aRd e
-+ DB29 6

22,

23.

24.

25.

26.

27.

In how much time, a sum of money becomes three
times of itself at a rate of 10% per annum simple
interest ?

(A) 15years (B)
© (D)

(E)  Question not attempted

20 years

25 years 30 years

Which Shortcut key is used for opening the Font
Size Box in Microsoft Word to change the Font Size
of selected text ?

(A) Shift+F

(B)  Ctrl + Shift + P

(© Cul+V

(D) Ctrl+P

(E)  Question not attempted

Which of the following rivers is also known as
‘Van-Ki-Asha’ (Hope of Forest) ?

(A) Banas (B)
(D)

(E)  Question not attempted

Parbati

Luni Kalisindh

The “Nagara” is classified under which of the
following categories of musical instruments ?

(A) Aerophone

(B) Membranophone

(C©) Idiophone

(D) Chordophone

(E)  Question not attempted

Where in Rajasthan is the Kolana Airport located ?
(A) Sikar (B) Tonk

(©)  Jhalawar (D) Nagaur

(E)  Question not attempted

As per the Census of India (2011), which of the
following districts of Rajasthan had the lowest
decadal population growth rate (2001-2011) in
percentage ?

(A) Karauli (B)
© (D)

(E)  Question not attempted

Dausa

Sriganganagar Barmer



28.

29.

30.

31.

32.

33.

ITT T ¥ W A B g F o,
W BT TEA 7 F Gt s

(A)  HETHEAT

(B) WA & H ~TATeNLT

(© FEFTEHA

(D) e

(B)  3rIana e

ST T HT A S AL -

(A) CaOCl, (B) NaHCOj

(©)  NayCO; (D) CaSOy

(B) 3raRd wed

TTeTRET § & I -TT 3THYOT TSRATAT THY 379
HTHT H TEATE 2

(A) Eget (B) =u

© = (D)  H®!

(B)  3raRd e

2011 BT STTUAT & AR, TSTRATT H TTHIOT 47 A
TTAD/TTTABT (0-6 T THE) TeATTdT T -

(A) 892 (B) 933

© 911 (D) 874

(B)  3rqaRd e

=TT 3T TRTEA T HA T Tl AHAL |, FAHAT BT
T TATEHR HI BT ?

(A) TSIt

(B) TS % W WA

(C) T 3= AT o A AT

(D) T

(B) 3raRd wed

Tyt &1, ffaiaa | 9 sia-ar e afea=
& T AT AT T BIATE 2

(A)  drPTR (B)  heArat

(©)  sRRTTTR (D)  aEHR

(B)  3rfand e

28.

29.

30.

33.

For appointment of the Chief Justice of a
High Court, the President of India consults
the :

(A)  Chief Minister

(B)  Chief Justice of India
(C)  Union Home Minister
Prime Minister

(E)  Question not attempted

The chemical formula of Baking Soda is :
(A) CaOCly (B) NaHCO;5
(©) NapCOs (D) CaSOy4
(E)  Question not attempted

Which one of the following articles of jewellery is
worn by Rajasthani men in their ears ?

(A)
(©) Mundri

Hansuli (B)
(D)

Choonp
Murki
(E)  Question not attempted

In the rural area of the Rajasthan, the sex-ratio of
(0-6 age group) of children (female/1000 males) in
2011 was :

(A) 892 (B)
(© 911 (D)
(E)  Question not attempted

933
874

Who acts as the principal advisor to the Chief
Minister, on all matters of policy and
administration ?

(A) Governor

(B)  Chief Secretary of the State

(C)  Chief Justice of the State High Court
(D) Home Minister

(

E)  Question not attempted

Which of the following districts of Rajasthan does
not share a border with Pakistan ?

(A) Bikaner (B) Phalodi

(C) Sriganganagar (D) Barmer

(E)  Question not attempted
P.T.O.



34. TSR o ST HATE 85 H T 30T THT ST TH A
AT ST AT [Td AT ‘Eviel’ 6 J9 e
Tt g 2
(A)  weRar (B) i
(C) TR (D) #H=T
(B)  3raRd e

35. ToATeTREd # § fopae, TR & Aot & &9
T IR QI &Y 2ft 2
(A) BT YTeTraTel
(B) ¥ fre Srgmaa
Q) Swr=Ter wETfEAT
(D)  ERTeATe AT
(B)  3raRd e

36. TS qd, Terwar Ao S BT A H 3 2 4 T AT T
T I TATA I MY | 7 : 9 BT ST ETT | 37
B ITHT ST FTE 2
(A) 26ad (B) 2479
© 27a¥ (D) 25a9
(B)  3raRd e

37. R # [hAY TT & HEMIGTRT (TSATHS STATA) B
frafm s a2
(A) T BT HTA A
(B)  3W ST HT TIUTA
(©)  Tregafd
(D) 39 T HT =HAT
(B)  3raRd e

38.  TSTEATA W HETIT T&cl TR BT ATH IATST Teg I
T T T FEATHT TS T T 2
(A) AT STTEATYT [
(B) Tadiodlive-e 36T Wadre
O FwdfamaTT
(D)  HUT EIAGR H & T
(B)  3rIand e

<~ DB29

34.

36.

37.

38.

The famous folk song ‘Humseedo” sung by both
males and females together in the Northern Mewar
region of Rajasthan, belongs to which community ?

(A)
(©) Garasia

Sahariya (B) Bhil

(D) Meena

(E)  Question not attempted

Who among the following, had taken oath three
times, as the Chief Minister of Rajasthan ?

(A) Tika Ram Paliwal

(B)  Bhairon Singh Shekhawat
(C©) Jagannath Pahadia

(D) Heera Lal Shastri

(E)  Question not attempted

Two years ago, the ratio of ages of Vinay and Ashu
was 3 : 4. One year hence, the ratio of their ages will
be 7 : 9. What is the present age of Ashu ?

(A)
(©) 27 years

26 years (B)
(D)

24 years
25 years
(E)  Question not attempted

In India, the Advocate General for a State is
appointed by the :

(A) State Minister of Law

(B)  Governor of that State

(C)  President

(D)  Chief Minister of that State
(

E)  Question not attempted

Name the first person who belonged to Rajasthan
and he was awarded the Param Vir Chakra ?

(A) Naik Jadunath Singh

(B)  Second Lieutenant Arun Khetarpal
(C) Captain Vikram Batra

(D) Company Havildar Major Piru Singh
(

E)  Question not attempted



39. fr=fatad § ¥ ®F9, TR |, SEear o &
TTITIH E 2
(A) Tt
(B) YrHSESH
©)  TgARTIOTSH
(D)  HAfeaATIST
(B) 31 aRd e
40. T x+y=10, y+2z=83Mz+x=24%, A x, y 3z
FTINTAL
(A) 10 B) 9
) 14 D) 7
(B) 3raRd wed
41.  frfatad § o S9-9F TR s S 7
fergroramatt # e A& 2 2
TrrTeTiE Tarepedt # ¥ W Saga ST I
(A)  ToRUTET Tt &7 Hacti, [hatt, JigTl 3
EATAT H FTASTTe TS &l BraT
(B) 3N 3R I AT ST U TG HT IR,
Tror
(©) uTHias Higd 3T ARY digd &1 Fsita faaro
TISTEATH TRrTehetT B TerfaTse TEem= Sar 8
(D) Ta=i# “afem’ 30T ‘YIRS | Sitdd T &,
TR
(B) 3raRd wed
42, g¥ 2025 H TR A TAteRad | A g u ot
THAT T BT & ?
(A)  STHIA
(B)  cITEl HURT
© smafqeaE
(D)  H=ETARET
(B) 3raRd wed
43.  ITSTRATH & AEE@YO! §d, T, qA-F9 ¥ 7 T 5
EH I ;
(A) rERTe (B) HFIE
© wrg (D) TR
(B)  3raRd e
<~ DB29 9

39.

42,

Who among the following is the founder of the
Kamadia Panth in Rajasthan ?

(A) Pabuji

(B) Ramdeviji

(C©) Devnarayanji

(D) Mallinathji

(E)  Question not attempted

If x+y=10, y+z=8 and z+x =24, then the average
of x,yand zis:

(A) 10 B 9
© 14 D)y 7
(E)  Question not attempted

Which one of the following is not a main feature of

Rajasthani painting ?

Choose the most appropriate answer from the

options given below :

(A) Rajasthani painting is not publicly displayed
in palaces, forts, temples and havelis

(B)  The amatory (sringarik) depiction of seasons
and their impact on human life

(C©)  Vivid depiction of natural as well as feminine
beauty gives Rajasthani painting a distinct
identity

(D) Use of vibrant colours in the portrayal of

‘bhakti” and ‘shringaar” in paintings

(E)  Question not attempted

Who among the following is the Padma Shri
awardee for the year 2025 from Rajasthan ?

(A) Begum Batool

(B)  Gulabo Sapera

(©)  Avani Lekhara

(D) Munna Master

(E)  Question not attempted

The important saint of Rajasthan, Pipa, was
originally a ruler of :

(A) Lohagarh (B)
© (D)
(E)  Question not attempted

Kumbhalgarh

Bhangarh Gagron

P.T.O.



4. R ST % FER, S T5d [qaeEed
BTG T 2, I H e oo T AepaT 8, oAfepet
T g A a %A T
faereiee &1 e THatfad =& g g, ar 58 ug
BigAT ISR |
(A) 8¥TE (B) 15%TE
©) eoE (D) 127mE
(B)  3raRd e

45. TOATE SSIC 202526 F AR, WA H fhaA
T Ieg TRIUd 3 AT I TSI IS TS R 2
Aa) 8 ®) 9
© 20 (D) 15
(B)  3raRd e

46. 15 STAART 2025 BT AT [GaH FEl AAHTIAT 2
(A)  Teeett (B) et
©  TETERt (D) ot
(B)  3raRd e

47. TSR | ATEA 3T A “Sior Aar dfex” 6
TER F oS h RAqE 2
FrfeTiaa fareheat 3 ¥ W SUga I A :
(A) 3R (B) =&
(© BT (D) s
(B)  3rfaia usd

48. THUH, THA ¥, [METaNEd § d BI-A7 BRE
THLTIC % AT TE| H e e W (1T Ufekaat
3TR/AT AR BT GITAT TATY TWATE ?
(A) WU
(B)  Rwpi=e hiler
(©) I dqH™
(D) wEAT
(B)  3raRd e

<+ DB29

45.

46.

48.

10

Under the Indian Constitution, a person who is not
a member of the State Legislature may be appointed
as a minister, but if he/she is not elected to the State
Legislature within from the date of
appointment, he/she must vacate the office.

(A)
(©) 6 months

8 months (B)
(D)

15 months
12 months

(E)  Question not attempted

According to the Rajasthan Budget 2025-26, how
many greenfield expressways are planned to be
constructed in the State ?

A) 8 B) 9
© 20 (D) 15
(E)  Question not attempted

Where was Army Day celebrated on 15 January
20257

(A)
(©) Guwahati

Delhi (B)
(D)

Bangalore
Pune

(E)  Question not attempted

The most important ancient “Jeen Mata Temple” in
Rajasthan, is located near :

Choose the most appropriate answer from the
options given below :

(A) Jhunjhunu (B)
(C) Bikaner (D)

Churu
Sikar

(E)  Question not attempted

In MS Excel, which of the following functions
allows one to keep specific rows and/or columns
visible while scrolling through the rest of the
worksheet ?

(A) Freeze Panes

(B)  Synchronous Scrolling
(C©)  Smart lookup

(D)  Custom View

(

E)  Question not attempted



49. fr=fafea ¥ 9 fp9 9rdstae aeat & a3 9§ 9T
IOT-2025 H FHAT FATITATE ?
(A) ot geiid R G
(B) sHIWATES
(C) =i\t arderfa weramd
(D) =f Far™ Sied
(B) 3 aRd e
50. A, B3R C F TH 9T & T ATEIGRT & HI &
HE T1E, B 7 319 Fra91 &Y 509 131 67 3T Foyarar
TR qUT C 7 3199 AT T 209% TTIRT HT 37T Faer
TRaT| a9 & 3Td | TG A BT 22,800 ATHIRT THAT, T
A ATH AT B
(A) 79,500 (B) 80,920
(C) % 81,700 (D) T 78,600
(B)  3rqaid e
51. G SR EaT:
TrfeTREd faepedt # & S g STY 9 :
(A) T H EHIAIST B 3T
(B) T ¥ Torcis e &bt 37feresdn
(C)  Tord | TSTTaH i 3rferepar
(D) T H g 30 I 3TTersbar
(B)  3rqaRd wed
52. 2,500 ! T HTLLOT TS G 3 A H T 3,250 Bl ST
T g Ui wR, gt aT A 2 a T Temgly st A
ZRT 2
(A) X510 (B) ¥ 525
(C) T550 (D) %500
(B)  3rqaRd e
53. “Sierary uRadq” & faq fefatad 9 9, feast
RO AATSCATE ?
frferRad faredt # & S g ST I
(A) T geATe
(B)  wSITTrt o fereTet & 1 9 SRaH
(C)  3iafer H ScbT AT T IS
(D)  feamera # fewee Fmfor A gfs
(B)  3raRd wed
-+ DB29 1

51.

Who among the following, has been conferred the
Padma Bhushan-2025, in the field of Public

Affairs ?

(A)  Shri Sushil Kumar Modi

(B)  Shri Ram Naik

(C)  Smt. Arundhati Bhattacharya

(D)
(E)

Dr. Sitaram Jindal

Question not attempted

A, B and C entered into a partnership by making
equal investments. After 2 months, B made an
additional investment of 50% of his initial
investment and C made an additional investment of
20% of his initial investment. If at the end of the
year, A received ¥ 22,800 as his share in the profit,
then find the total profit.

(A) 79,500 (B)
(©) 81,700 (D)
(E)  Question not attempted

% 80,920
% 78,600

Jaundice is caused due to :

Choose the most appropriate answer from the
options given below :

(A)  Excess of hemoglobin in the blood
(B)  Excess of bilirubin in the blood
(C)  Excess of potassium in the blood
(D)  Excess of uric acid in the blood

(

E)  Question not attempted

A sum of ¥ 2,500 on simple interest becomes
% 3,250 in 3 years. What will be the compound
interest on the same sum at the same rate of interest
after 2 years ?

(A) %510 (B)
(€ X550 (D)
(E)  Question not attempted

%525
% 500

“Climate change” is considered a causal factor of
which of the following phenomena ?

Choose the most appropriate answer from the
options given below :

(A) Extreme weather events

(B)  Low risk of species extinction

(C©) Increased meteor activity in the outer space
(D) Increased glacier formation in the Himalayas
(

E)  Question not attempted

P.T.O.



54.

55.

56.

57.

58.

T TershaT = ST a%qU % 5,700 T H il | 7o g a¥ | 54.
I 14% T ATH ZI IR T WX 39 5% &N g8 1 39
TN TG H IH Z3T AT 7T ETTT ATl 71 By |

7 1
(A) F|T‘1-T3HA, (B) FFFF4EA>
() &= 31—21 % (D) @T11%
(B)  3rIand e
TR TS TSR o [h & | W (e U ik | 55.
AT T B 2
(A) 31
(B) SEuqR
©) SHTHT
(D)  STrerqR
(B)  3rqaid e
FITS X A 78T AR FE=AT3M Bt T2ar= # WeTH | 56.
ITFTOT BT E ?
(A) 33, (OCR)
(B) TE.UHEL (SSD)
(C) @THI3MT. (BCR)
(D) 3 TAIMW. (OMR)
(B) 31 aRd e
ATE TR T 3T B F TSTRATT 5 & |57.
H gieras AT AT 2 |
(A) FRE (B) waTTTe
© e (D) =TT
(B)  3raRd e
IR, Toiegie, TeHg 3T SRR IS & | 58.
freforiaa & @ few gt femr & 2
FrfeTiaa fasheat # ¥ W g I A :
A) = (B) waTS
© wwEE (D)  grEStdt
(B)  3raRd e
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A dealer sold two items for ¥ 5,700 each. On one
item he gained 14% and on the other item he lost
5%. Find his profit or loss percentage in the whole
transaction.

7 1
(A) Profit 3— % (B) Profit 4—%
11 2

2
(©) Loss 3H % (D) Profit11%

(E)  Question not attempted

Alibakshi Khayal is the prevalent folk drama of
which region of Rajasthan ?

(A) Alwar
(B)  Udaipur
(C©) Jaisalmer
(D)  Jodhpur
(

E)  Question not attempted

Which device is able to recognize alphabets and
numbers printed on paper ?

(A) OCR
(B) SSD
(C) BCR
(D) OMR
(

E)  Question not attempted

The Mahi Mahotsav is officially celebrated in the
region of Rajasthan every year.

(A)
(C)  Sirohi

Dungarpur (B)
(D)

Pratapgarh
Banswara

(E)  Question not attempted

Udaipur, Chittorgarh, Rajsamand and Dungarpur
are part of which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the
options given below :

(A)  Braj ()

(©) Marwar (D)

Mewar
Hadoti

(E)  Question not attempted



59.  &gex faai IR SrsaTaet #, TW e 2 o
(SMTP) FT YT FIZ :
(A) | HA IS WSrBic
(B) Ut #et g Wiethict
(O T AA TAHL WISIBI
(D) U A AR TSIt
(B) 31 aRd e

60. TH AT o T 21 W4 B S H TS SIpal TIIGT 3T
3% T 13 H 2B ST A o= fEAT| S AN AT H 3y
% 180 T EATH 3T | IW foher=it iRt wiat ot 2
(A) 144 (B) 140
©) 132 (D) 150
(B)  3rfana ued

61. AT T TRIAT H 25% 31 ATt 6T 37”98 15 3
T IFRINOT TE T ST AT T uHeqT | 40% 37
oT T STt =IAaw IS | 15 3% 3 2l
AT SAHE :
(A) 55 (B) 40
(C) 50 (D) 65
(B) 3raRd wed

62.  TTSTEUTH BT T TSad I - “ et e A - T T
@I o ?
(A)  FegTeTe FfaaT
(B)  WeIwemTeT et
(Q) o ST
(D)  HES HHA
(B)  3rIand wed
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59.

In computer science terminology, the full form of
SMTP is :

(A) Source Mail Transport Protocol
(B)  Simple Mail Transport Protocol
(C©)  Source Mail Transfer Protocol
(D)  Simple Mail Transfer Protocol

Question not attempted

A man bought some sweets at the rate of 4 for ¥ 21
and sold them at the rate of 2 for ¥ 13. In the whole
transaction he gained ¥ 180. How many sweets did
he buy ?

(A) 144 140

(B)

(€ 132 (D) 150

(E)

Question not attempted

Riya scored 25% marks in an examination and failed
by 15 marks while Nancy scored 40% marks in the
same examination and got 15 marks more than the
minimum passing marks. The minimum passing
marks are :
(A) 55 (B) 40
(& 50 (D) 65

Question not attempted

The iconic song of Rajasthan - “Dharti Dhoran Ri”
- was written by :

(A) Kanhaiyalal Sethia
(B)  Satyaprakash Joshi
(C) Paras Arora

(D) Meghraj Mukul

(E)

Question not attempted

P.T.O.



63.

64.

65.

66.

A TUT B THeteT fpeit 19 @t 10 fo7 § %2 964 &;
BauTC e sftsm ai 12 fea A s uha &, STaih
A TUTC e sq 15 fga A e asa glafe A, B der
C e B8 B a1 I Tobad THT § I BTH Bl BT
o ?

g e

1
(&) 72 e (B)

©) 8%%7-[ 7%

FTART T

(D)

(E)

TerE-gag T aRisHT, 137 §9 9 TR &

T TTREa | I, TR 15T BT AT BT & 2

(B)  3rfana ued

Tare utarer fgaw 2025 FfaRad # 9 f5d 78 W
T &aT ST B G AT AT 2

(A)  ATREH FETOT BT TATT HIAT
(B)  WHST USATIrT 6T TX8TOT

(©)  meyiw Tt uTRRfas gt
(D) oSt et ISt &7 HIeqoT

(B) 3raRd wed

frferiEd & ¥ Si-t Tad 7T B TEEE T A&
27

(A)
©
(E)

g
ATEY

AR T

EARIIR)

BRI

(B)

(D)

- DB29 14

64.

65.

A and B together can do a work in 10 days; B and C
together can do the same work in 12 days whereas
A and C together can do it in 15 days. How long will
A, B and C take to do the work if they work
together ?

1
(A) 75 days (B) 8days

1
© 85 days (D) 7 days

(E)

Question not attempted

The Sidhmukh-Major Irrigation Project primarily
benefits which of the following regions in
Rajasthan ?

(A) Bikaner Alwar

(B)
© (D)

(E)

Bharatpur Hanumangarh

Question not attempted

The World Environment Day 2025 was celebrated
with a special focus on which of the following
issues ?

(A) Ending plastic pollution

(B)  Marine species conservation

(C)  Ecological restoration of wetlands
(D)  Conservation of big cat species

Question not attempted

Which of the following rivers is not a tributary of
the river Chambal ?

(A) Parbati (B) Kalisindh

Mahi (D)

© Banas

(E)

Question not attempted



67.

68.

69.

70.

71.

T He T’ 7 fawma QR 3 ‘Hel” has
TAFE ?

(A)  STTETT IO I ALHT
(B)  Tra 3R gt

(C) TR P

(D) I I AT

(B) 3raRd e

THIHT F 7 IO & SR, Feg (JeX) TRAT H

ST 3 AT

(A) 30 ATH 1950 (B) 30 ATE 1951
(C) 30 ATH 1952 (D) 30 ATE 1949
(B)  3raRd e

HERTOT T R AT “Tarerar wiw’, FrtaRad
¥ opw Topet 5 R 8 2

(A) TaditeTg (B) AT

©) =g (D)  FwAeT

(B)  3raRd e

Trfeiaa # 9 fpe 1t I & o sTrATshaT
& TRuTHEEY feema srfsaT gt 2

(A)  AgNO; fera= T afem g

B)  CuSO, fere 3T =riat g
C)  NaCl Faeta 3R e &g
D)  FeSO, faerae 3 afar emg

E)  3raRa ued

frfaiad & 9 e TS & ®ier #1857 Hi
iTeT T e ThaT T 2

(A)  EEU NE

(B) HeI@ ™

(©) WM Rg @war
(D)  Faret g

(B)  3rIand wed
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68.

69.

70.

71.

In the ‘Turra Kalangi Khyal” what do the famous
‘Turra’” and ‘Kalangi’ symbolize ?

(A) Lord Ganesh and Lakshmi
(B)
C) Radha and Krishna

(
(D)
(

Shiva and Parvati

Ram and Sita

E)  Question not attempted

During the 7 stages of its integration, Greater
Rajasthan was formed on :

(A)
©
(E)

30th March 1951
30th March 1949

30th March 1950
30th March 1952

Question not attempted

(B)
(D)

The “Vijay Stambha’ built by Maharana Kumbha is
found in which one of the following forts ?

(B)
(D)

(A)
©
(E)

Chittorgarh Junagarh

Jaigarh Kumbhalgarh

Question not attempted

The reaction between which of the following pairs
of reactants, will result in a displacement reaction ?

(A)  AgNOj solution and Copper metal
(B)  CuSOy solution and Silver metal
(C©) NaCl solution and Copper metal
(D)  FeSOy solution and Copper metal
(E)  Question not attempted

Who among the following led the Revolt of 1857 in
Kota, Rajasthan ?

(A) Hardayal Singh

(B) Mehrab Khan

(©) Ram Gopal Singh Kharwa
(D)  Kushal Singh

(

E)  Question not attempted

P.T.O.



72.

73.

74.

75.

ST OIS A a7 B FRHT ST 1 9T 40 e qun
50 Toe & WX IRt ¥ | Ifg ST a1y Tk AT Wil
Mg Al Feha 9 (WSl /) & T IS8T A Hi 9 fohar

ST =ET o6 3t 30 e § WT ST 2

(A) 14 (B) 15
1

(©) 15E (D) 16

(B) 31 aRd 99

TT-TAX SIS Y & T H, UDMA T g0 &7
L ?

(aNEaN

(A) I TSRS AASTNIA TSTHT-Rg T

B)  gATEeS fEsirey AestHe rufier

)
Q) 37 EIReT ST RU U™

(
(
(D)  3rd fESTReR AestHe TATREr
(B)  3raRd e

ST TATHTAT & FFT AT H qRETE udd Tiet R
g9

(A)  geroft ST 8
(B) IO IR 41
(©)  STGroT-ydtaaRt &
(D) A IRTaET &

(

E)  3raRa ued

TSTRT T FereT &t anfires Rt 2024-25 & UK,
frteiaa gt # & fFEH Bt a1 §1hdt, Faltuw
27

frferRad faredt # & S g ST I
(A) IR (B) TSwHE
©) == (D) 3IZIR

(E)

AR 997

- DB29 16

72.

73.

74.

75.

Two pipes A and B can fill a tank in 40 minutes and
50 minutes respectively. If both the pipes are
opened simultaneously, then after how much time
(in minutes) should pipe A be closed so that the tank
gets filled in 30 minutes ?

(A) 14

151
2

(B) 15

© (D) 16

Question not attempted

(E)

In the context of State-level disaster management,
what is the full-form of UDMA ?

Universal Disaster
Administration

Managerial

B)  United Disaster Management Authority
C)  Urban Disaster Managerial Administration
D)  Urban Disaster Management Authority

E)  Question not attempted

In which part of the Aravalli range, is the Taragarh
mountain peak, located ?

A)  Southern Aravalli Region
B)  Northern Aravalli Region
South-Eastern Plateau Region

(
(
©
(D)  Central Aravalli Region
(

E)  Question not attempted

According to Rajasthan Forest Department Annual
Report 2024-25, which of the following regions has
maximum total forest area ?

Choose the most appropriate answer from the
options given below :

(A) Ajmer

(B)
(D)

Rajsamand
©
(E)

Tonk Udaipur

Question not attempted



76.

77.

78.

79.

80.

S 2025 H FrAfeiEd # ¥ T Tomerme o |t

ST T 3TeeT T opaT T 2 2

(A)  TETaT Iy

(B) RafiEes

© wI=taE

(D)  3chel WA ATE

(B)  3rgana ued

T T 7T B4 3 o ATeT R w9 BT IR & |
Fd A A IeuTe (Ao T H)

80 7

75 +

70 +

65 +

60 +

55 +

50 “5013.15 201415 201516 201617 2017-18 201819 201920 2020.21

firscet T Bt AT H Fd F & SATG H TIBAH

EIc- S vt

(A)  2020-21 (B)  2016-17

(C)  2019-20 (D) 201718

(B) 3raRd wed

HIT 9T 3R AGHOT I FAE FrAfeiad 7 F fhe

VBT b TG FATBR S ?

(A) T\ (B) dEawt

© TR (D) warg

(B) 3raRd wed

T T BT AT T, 7T Forot ot sufRerfa & wor
BT :

(A)  EF INTES

(B)  ATggie & 3fTTEE
Q) FHEAFEAS

(D)  wfFHAEE

(B) 3 aRd e

{aRad & 9 SI9-9T1 T T FiFedaT Tat

(A) StamgTad
(B) THUH.TE
©) =TgIEH

(D) TS BRI
(B)  3raRd e

- DB29 17

76.

77.

78.

79.

Who among the following has been appointed as
the Chairman of the Rajasthan Public Service
Commission in June 2025 ?

A) Sangeeta Arya

B)  Shiv Singh Rathore
Bhupendra Singh

D) Utkal Ranjan Sahoo

E)  Question not attempted

Study the graph and answer the following
question :

Production of Raw wool (in Metric Tonnes)
80 T
76

75 + 73
70 + 68

65

65 +
60 +

55 +

50 -

2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21

The maximum rise in the production of raw wool
with respect to previous year :

(A) 2020-21 (B) 2016-17
(C) 2019-20 (D) 2017-18
(E)  Question not attempted

Mangi Bai and Lakshman Das Kamad are the
prominent dancers of which of the following dance
forms ?

(A) Bum (B) Terah Taali
(©) Ghoomar (D) Bhavai
(E)  Question not attempted

The red colour of red soil is primarily due to the
presence of :

(A) Oxides of iron

(B)  Oxides of nitrogen

(C©) Calcium carbonate

(D) Sodium nitrate

(E)  Question not attempted

Which of the following is not an Application
Software ?

(A) GIMP

(B) MSWord

(©) QBASIC

(D)  Adobe Photoshop

(E)  Question not attempted

P.T.O.



81. ?ﬂ%ﬁﬁs@ﬁﬁwwwm
(A)  w\aT (B) ¥
© == (D)  THerar
(B) 3T aRd e
82. fHTAREd # Y G AL :
(A) U T G IHET |
(B) X = TaaT qoeT &l 3T |
(C)  HTTET 3T ST 7 =i s T |
(D)  #Y T St ath TR T ST AT |
(B) 31 aRd e
83. I+ v FHrAfrEnit:
(A) =F=r (B) =
© == (D) =t
(B) IraRa ueA
84. fIfeTiaa #  Topr ey # Hehweh Thar 67 wrr
T ZE 2
(A) g faEH ugETe
(B) AT MYETRI
(©) #id germarE|
(D) #ie fepebe T 2 |
(B) 3raRd "
85. ‘GLOBALIZATION’ & feTq Suer fedt orsg 2 :
(A)  geiteBTor (B)  gedtEHIOT
(©  srefior (D) frgieor
(B) 3raRd e
<+ DB29
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86.

87.

88.

89.

90.

FEt-1 FT G -2 F T e BT

-1 -2

(FE™) (GIEBLEEIEY))

(a) |qEaTTE (i) |[SETATHIT AT ?
R ETIE

(b) |srfre=maras (i) [§ 3199 T =@l
R ETIE ST |

(c) |FeTaTTh (iii) P ST |
eI

(d) |Feraras (iv) |3TSTeheT g QT7d T&aT
AT Z

= fog Ty et # & S IUgER 3T BT T4
EAELE

(A)  (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(B)  (a)-(iv), (b)-(ii), (c)-(ii), (d)-(i)
©  (a)-(i), (b)-(iv), (o)-(iii), (d)-(i)
(D) (a)-(iv), (b)-(ii), (c)-(0), (d)-(ii)
(B) 3raRd e

“ifepen’ 9Teg # T TIT & :

(A) TP B) =

© % D) %®
(B) 31 aRd e
‘yagr F faam = & :

(A)  smg (B) frue
© uer (D) wmag
(B) IraRa ued
frefafEad g s o= &

(A) g (B)  wst
© Tafgan (D) g+
(B) 31 aRd e

Teh TIHT T F BIT-HT 707 TE &1 =1 2
(A) FegaEear (B)  gaar
(©  guir (D) @t
(B) IrIaRa ued



91.

92.

93.

9.

95.

96.

FrfetiEd # & HI9-971 a1, “TIETAG HabIe”
FTIZTEITE ?

(A)  TE 3T 3 AR B I T |

(B) ¥ U, fhA AS @I TE |

(©)  TEHAH G |

(D) T Eash ety H Ug & |

(B) 31 aRd e

LT — SF TR | BI-|T [ILAT0T qg gaw
g7

(A)  ufewATOTaTE e

(B)  ToraTess faeteor

(©) g faeTeor

(D) HEgTaT faTaoT

(B) 31 aRd e

AR A A P- AT AT IS AR & 2
(A) =R (B) if=

© == (D) =g

(B) 31 aRd e

“qlifera’ oteg & foru shaa arerier?

(A)  TSaast s atem At et g Er

(B) SuteTFH AT AR

(O SigEd srademadrer

(D)  fSept adtem ot ST bl &f

(B) IraRa ueA
el d T s e &

(A) ISt (B) 3 FA
(©) T (D) fasmaT
(B) I IaRa ued

TIHRY T § AT F {00 3985 ¥ [FHb1 v
[ERUSISIER

(A) 3BT (B) e

© wErEw (D) was
(B) 3 IaRa ueA
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97.

98.

99.

100.

3T BT T AT TIAGE” SAIB T BTNTE :

(A)  ITOTT % W 3FET &AT

(B)  3fer AT HTIOM &

(C) 378 fery =BT SHIMER &I
(D) Tomi & foreg AR BT

(B) 31 aRd e

TIRTPR 9Teg # B IH-TTITATE ?
(A) Y B =
© =R (D) Fr
(B)  3raRd e

“Sfrat TeHTT AET FTANT L :

(A)  SIAT T ZUR-TER ThAT
(B) oo gER-SE AT
(C) =T H ST BT LT AT
(D) T HqT T T

(B) 31 aRd e

fr=faiad oest & 9 ‘3R’ 9tsE @1 qEiEa=

T

@O a=
1) FEA
) A
(IV) STt
(V) Tafw

T g e ferseat & @ T SUGER 3T &1 =9I

PHITT

(A)  FHae (1) 3T (1)
(B)  Had (III) 3T (V)
Q) &ae (1) 3 (IV)
(D)  &ad (I1) A (IV)
(B) 31 aRd e

P.T.O.



101. Fill in the blank in the following sentence with
the correct tense :
I for jobs on jobhunt.com these days
with the hope that I might get called for
interviews.
(A) have been applying
(B)  has applied
(C©) have applied
(D)  applying
(E)  Question not attempted
102. Choose the most appropriate option to convert
the given sentence from Active to Passive
Voice :
People consider him to be a fair judge.
(A) Itis hoped that he is a fair judge.
(B) Heis considered to be a fair judge.
(C©) Hisjudgement is considered to be fair.
(D) Heis considered by people to fairly judge.
(E)  Question not attempted
103. Choose the most appropriate option to convert
the given sentence from Indirect to Direct
Speech :
This morning, he said that he would leave for
Hyderabad the next day.
(A) This morning, he said, “I will leave for
Hyderabad tomorrow.”
(B)  This morning, he said, “He will leave for
Hyderabad the following day.”
(C) This morning, he said, “I may leave for
Hyderabad tomorrow.”
(D)  That morning, he said, “I will have left for
Hyderabad the next day.”
(E)  Question not attempted
-+ DB29
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104.

105.

106.

Convert the following sentence from English to
Hindi :

Dr. Gupta will buy the house that I built last
year.

(A) ST T g7 W @A S A e a9
AT |

(B) .= FT A BWIST |

(O ST.aTied T ¥ R A ERE |

(D)  EF.ITar 98 TR g e ot He Foresel e
gAETAT |

(E)  Question not attempted

Fill in the blank in the following sentence with
the most suitable article.

news you broke to your wife made
her nervous and she broke down.

(A) A (B) No article
required

(C©) The (D) An

(E)  Question not attempted

Fill in the blanks by matching List-I with
List-II :

List-I List-II
(@) |They will return (i) |below
6 p.m.
(b) |You must atone (if) (till
your sins.
(c) |They live us. (iii) | for
(d) |He studied 11 p.m. |(iv) |by

Choose the correct answer from the options
given below :

(A) (@)-(v), (b)-(ii), (c)-(0), (d)-(ii)
B)  (a)-(v), (b)-(1), (c)-(ii), (d)-(iii)
(©)  (@)-0), (b)~(ii), (c)-(iii), (d)-(iv)
(D) (a)-i), (b)-(iv), (c)-(iii), (d)-(i)
(E)  Question not attempted



107.

108.

109.

110.

111.

Choose the most appropriate option to replace
the underlined part of the following sentence in
order to make it grammatically correct :

Amrita didn’t knew my address.
(A) didn’t known

(B
©)
(

(

didn’t know

~

no correction needed
D) didn'thad
E)  Question not attempted

Choose the option with the correct use of
punctuation(s) :

(A) Prashant likes croissant doesn’t he ?

(B)  We need snacks, drinks and lights.

(C)  Thesunhaving risen : we left for the town.
(D)  “I am going tomorrow he” said.

(

E)  Question not attempted

Choose the suitable word to fill in the blank in
the following sentence :

I wish to
organization.

(A)
©)
(E)

Convert the following sentence from Hindi to
English :

H ISTHA TAHE |
Choose the most appropriate answer from the
options given below :

my ties with that

sever several

(B)

surreal (D) severe

Question not attempted

(A) IwishIcould just relax.

(B) Iam stressed about something.
(C) lamstressed these days.

(D) Ilam tensed today.

(E)  Question not attempted

What 1is the official/technical term
“Complaint or a cause for complaint” ?

(A) (B)
©) (D)
(E)

for

Provision Grievance

Publication Sadness

Question not attempted
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112.

113.

114.

115.

Choose the most appropriate option to convert
the given Assertive sentence to a Negative
sentence :

The fort was demolished before it was

surrendered.

(A) The fort was neither demolished nor
surrendered.

(B) The fort was surrendered before it was
demolished.

(©) The fort was demolished and
surrendered.

(D)  The fort was not surrendered until it was
demolished.

(E)  Question not attempted

Choose the most appropriate option to convert
the given Interrogative sentence to an Assertive
sentence :

Was he not kind to help you ?

(A) What a kind man he is!
(B) Heis so kind that he decided to help you
in that difficult situation.
(©) He was kind enough to help you.
(D)  He has displayed kindness, has he not ?
(E)  Question not attempted
Fill in the blank with an appropriate
determiner :
milk is left in the bottle ?
(A) How many (B) How much
(© Any (D) Some
(E)  Question not attempted

Choose the most appropriate option to convert
the given Assertive sentence to an Exclamatory
sentence :

I ardently wish to have a small house to live in
Goa.

(A) What a pity! I do not have a small house
to live in Goal!

(B) What a small house in Goa!

(C) It is my wish to live in a small house in
Goa.

(D) How I wish for a small house to live in
Goal

(E)  Question not attempted

P.T.O.



116.

117.

118.

119.

120.

- DB29

FrTeTiEd o 19 A 2ol § Sdgs i @dt
H 3P URTETRT % TTT 2024 # SO R
T fpT T 2 92
(A) IS gETaE
(B) gL
(©) =i faE
(D) s TSt
(B)  3rqaRd e
1615 H HATS-TI WY, TN 3R 6o o= g5
ot 2
(A) o 3 frE-1
(B) Im3eTfaE
(©) HERTOTHEAT
(D) HERTOT IS &g
(B)  3rqaid e
“ITAT I BAATL” (SAF FATSN HT Tg) fopa feraam
uqT 2
(A)  FeaTere Afaar
(B) M
©) ToSEsE T
(D)  H ST
(B)  3rqaid e
AR H [T T Bt {4 aRug $7 959 391 5
ToTT AT ST G FATE ?
(A)  30Td (B) 35ad
©) 45ad (D) 2599
(B)  3raRd e
T TeTaTer W T [h Tl ! T, TS 1 U H 25%
3rferes 3 o ferenfiran # e F@m 1620 %1 37T 60 31X
eipal fratas & gL adt & aUT 80 TS Ty
BIS 3d &, a7 cISh! B! TEAT BT TSB! B TEAT H
T AT BT :
(A) 2:3 (B) 33:49
(C) 39:41 (D) 20:21
(B)  3raRd e
-00
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116.

117.

118.

119.

120.

0_

Who among the following is the recipient of
Dronacharya Award for outstanding coaches in
Sports and Games - 2024 under regular category ?

(A) Sandeep Sangwan
(B) Annu Rani

(C)  Jarmanpreet Singh
(D)  Jyothi Yarraji

=

Question not attempted

In 1615, the Mewar-Mughal treaty was signed
between Jahangir and :

(A) Rana Amar Singh-I

(B) Rana Uday Singh

(©) Maharana Kumbha

(D) Maharana Raj Singh

(E)  Question not attempted

“Batan Ri Phulwari” (collection of folk tales) was
written by :

(A) Kanhaiyalal Sethia

(B)  Shyamal Das

(©)  Vijaydan Detha

(D) Nathmal Joshi

(E)  Question not attempted

What is the minimum age requirement to be a
member of the Vidhan Parishad (Legislative
Council) of a State in India ?
(A) 30years (B)
© (D)
(E)  Question not attempted

35 years

45 years 25 years

In a school, the number of girls is 25% more than
that of boys and the total number of students is
1620. If 60 more girls are admitted and 80 boys leave
the school, then the ratio of number of boys to that
of girls will be :

(A)
©
(E)

2:3 (B)
39:41 (D)
Question not attempted

33:49
20:21



- DB29 23 P.T.O.



@1 a9, gemelf et faher ufar @t sieror 78l B2 | e gTRT 37T UHE B FeT Tl B 370 URT 5T 2, e gt i #er gt
& B cTgd A FHI BT ATGEAIGdB o7 BT Gl i raar | giameff fadier gfa &t smgea e & Gt/

- 1
JE oI H &1 ulaar & - et gfer 3112 fadlia gfer, adten wafia ue adlen ser viga 3 gd el 3w gares @1 qlel glorar dieies



